Advance Mathematics (ΔΙΔΑΚΤΟΡΙΚΟ-ΜΕΤΑΠΤΥΧΙΑΚΟ)
Στέλιος Κώτσιος
Homework 4
Due Date: 14/2/2014
1. We have the demand function 
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. Compute the three elasticities (own price, cross price, and income).
2. Find the vector – equation of the tangent line of the function 
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at a point 
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3. Find the vector – equation of the tangent plane of the function 
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at an arbitrary point 
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4. A firm has the production function 
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.  (i) Find the domain of definition so that all the first order partial derivatives exist. (ii) Currently the input bundle is (27,16,64), approximate its new output when the input bundle becomes (27.1, 15.7, 64).
5. Estimate 
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6. Suppose that: 
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, α and β constants. Show that if μ and ε are close to 0, then 
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7. Consider the system  of equations: 
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, where u and v are functions of x and y. Find 
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8. A version of  the “IS-LM” model leads to the system of equations:
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             where a is a parameter. Suppose that Y and r are functions of a and M. Find       
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